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QUESTION 1

CORRECT TEXT There are two BFD operating modes. In_______mode, the local end sends BFD Control packets at
specified intervals, and the remote end checks whether the local end periodically sends BFD Control packets. (Use
lowercase letters.) 

Correct Answer: primary 

 

 

QUESTION 2

As shown in the figure, SWA, SWB, SWC, and SWD run the Rapid Spanning Tree Protocol (RSTP). Which of the
following statements are true? 

A. Once receiving OPOUs, the edge port re-partlci pates in the calculation of the spanning tree. 

B. After a port is Configured as an edge port, the port can quickly enter the Forwarding state. 

C. You can enable the edge port on SWD\\'s GEO/0/2 connected to the terminal so that this port can quickly enter the
Forwarding state. 

D. You can enable the edge port on SWC\\'s GE0/0/2 connected to the terminal so that this port can quickly enter the
forwarding state. 

Correct Answer: B 
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QUESTION 3

After which of the following parameters are modified does an IS-IS neighbor relationship need to re-established? 

A. The cost of an IS-IS interface is changed. 

B. The IP address of an ISIS interface is changed. 

C. The level of an ISIS interface is changed. 

D. The interval at which an IS-IS interface sends IIH packets is changed. 

Correct Answer: C 

 

QUESTION 4

When two routers exchange LSDB information using DD packets, a master/slave relationship is formed first, the router
with a larger router ID is the master, and determine the MS bit. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 5

Which of the following statements about WLAN roaming are true? 

A. APs for roaming do not need to have overlapping signal coverage. 

B. APs for roaming must be in the same extended service set (ESS). 

C. APs for roaming must have overlapping signal coverage. 

D. APs for roaming must be in the same basic service set (BSS). 

Correct Answer: A 
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